0148 R IXiLrl1(3x3+2x2 +x+1) ER
A4 BS  (Q6 (D)7
SOL: E X8t 1
IXiLr11(3x3 +2%% + X +1) = IxiLrll(3x3) + Ixim(2x2)+ lim(x)+1im (1)
HEKLEAM
1 (D)

o2 im X ERA) 2 B) 0 (© 2 (D) KEE

x—0" X
SOL:
B X8I 0 MOZCHBIRRS - olfRse X = € B3rmm ) \E )
lim M=x_e—(e) 2
x=0" X —& —&

SLEAEAR 2 X 1835 0 B9 HEpRES - X <0 . [X|=—X

=2

lim = lim =-2
x—0" X x—0" X
T (A)
OMWWmﬁ—JEEE%()4(m—1(QZ (D) o
o 2x2 +8X+5
SOL:
HEMIREREEIB G ARBUWT - 9F% !QE%EX
x 5 1 5
2 4—— +—- 4-—+—
Hmfgrliii:Hm——%%_%?:ﬁm——é—%f
X X X X
ExoolF BHAONIDHOEZEBE0 . EBE NE2BEEEGRE
1 5
At 4040 4
lim im
o 85 Tow240+40 2
2
X X
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04. IR lim [x] ER(A) 4 (B) 5 (O) -5 (D) A =%

SOL:

EXxo5 RAXHWAASENAS - 5<x<6  XBESHRENESE - OfF
Ilrg[x]=5

L (B)

5 weiim LEBA) 1 B) 0 (O -1 (D) K&k

x=0 X

SOL:
(MZRBEMWRx —> 0 - LB FRRX<0

lim | | =lim—=-1
x=0" X x=0" X

RQ)ZRBAMRx - 0" - LB FFRAX>0

Iimm: limX =1
x=>0" X x20" X

ERAEMBRAEREBIR - MIRRAFE - BE(D)

6.5K R fR lim(2x +3)

SOL:E X #8315 - 2X B84 10 - 2X+3 524838 13 . SuIbRIE - RAIHE
BEEAAEEE -
lim(2x+3) =13

2
7. SRABIE lim 2
x—3 X_3

SOLE X #8313 - nBB0 - nFiBi0 - GUMIAIRBE - Rno BBy
BHERAN - BEDBENEER  BEEANEL  EEEEHEHEEE -

2
lim =2 _ jm 3 =X £3)
-3 x—3  x3 X—3

= lim(x+3) =

8. KEEMHIR lim[x]

X—6"

SOL:'E X 83 6 UAMHRIE - TR X5 E’JTSWEG i - FEO 6 AUZRAISER -
BAZEENRG6 - KIESHRENE
lim [x]=5

X—6"



9 5924 BIR lim 51X

X—>0 X
SOLIRB=—ARENERE - EZREUREASZI -1<sinx<1

gx>0ps . Lo SX Loyl 3 g
X X X xooX X*)OOK X}

SR IR AE AN lim 3" _ o

X—oo X
7,0<x<1
T0.RZEE f(x)=18,1<x<2 F@ER1im f(x)
9,2<x<3

SOL:

(MEBxBEABI2 - AR Iirpf(x):8

RQEXHBAABI2 - AIBIE lim f(x)=9
ERREGBIRAES - BRAEE

1. Ry = f(x) BZ@T

(1)K lim f (x) (2)aH 3K lim f (x)

SOL:

(1) E@BE!LT f(x)=4  GIHE lim f(x)=8 EBPREAAIBIRAMEE - 1R
AFE

) 75@551@ f(x)=9 - E@BE!L@HX):Q - FEBPREAASPRIFR 9 - 1

- BEfEx=22BE%  10F3 lim f(x)=9



